
(2) (rD

(3) (r)

(4) (rrD

--rd otrl

44. Match lhe following

List-I

(A) Ostracodermi

(B) Coelocanth

(C) Cyclostomes

(D) Osteichthyes

6r po6 orSC a66&i$b::.

5SS-r

(A) egX>c$Eor' o/ g

(B) fuos"o6

(c) }ffs,*
(D) e='o 35

The correct match is

aa 60o3c5 #&oey

(A) (B) (Cr (D)

List-II

(D Lobe-finned fishes

(lI) Exocoetus

(III) Extinct jawless fishes

(lV) Hagfish

$e3g-II

(D eoDS d"a dX)c>:

(II) JSJ6obS

(III) Do:fi dSde> dC S$eD

(IV) 566 d;)

--.(r) uYf 6
(rrD (r) (IV)

0D Gr) (rv)

(rD Gv) (r)
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A
45. Identify the correct combinations

List-I
(A) Genetic load

(B) Founder effect

(C) Centripetal selection

(D) Directional selection

S
s
0

(1) (A) and (C)

(3) (B), (C) and (D)

5r i-Soa -.Cd 3o6cs
SEg-I

(A) a5cg E-do

(B) #"")S dgo 1i:qr.So

(C) erQdol6 Sdeoo

(D) Aa-o5od $deoo

(1) (A) $00 c$,r: (C)

(3) (B), (C) scoc6o (D)

List-II
The existence of deleteriggg genes

within the popglations/
A small group of individuals from a

population @th start new colony in an

isolated reei6-n \- ---/
It operates when homogenots environment

changes into heterogenous type

It works by removing the individuals

constantly from one end and shifting
fitness towards the other end of
phenotypic distribution

P*q *d(b)
(4) (A), (C) and 1.d)

X>do3d5 $.::e.:Sc Eo:ip$c:
SeiS-U

eo-qr.ef *6csd&s ascg$o:
6odc:$.r:
l)Sy d$o i>5::-3.$o Su.o ao.qry
Sco6 ddo.:r 5'6 Siy"Sda-S1 DSd

@odoef @doQloc:
X:Sca.& c$o o.o.5 dea $o D(t $:
ar"& c$c o.s"S dea 5;rn" 5.r'O 5 fryd.>
ab 5ocd,:6cob

d;dgd.r.X> Sbdead a,5 eroe5god
d$oc gd$con SoflorJo6
aoSd eroeSgod gS$con- 56eoo
s.D o r5 ar d s" o::

List-III
Sickls.eeltanaemia.

Beaks of Darwin's

finches.

Weight of new-bom

babies in London.

Average value of
length of Giraffe

neck.

503g-III

i.)5() -dO

cs 5 &o o5;.

6!0ab :Jor:e)

5::5.:: o:(t

aon odcef
aCr o')S S$2y"6

8{c$o a:d.:$
eo'5",:od
E:6&6$ 5,'tc))

(2) (A) 5c0 c$o (D)

(4) (A), (C) $coc$o (D)
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In a normal ECG the co{rponent that signifies the duration of one cardiac cycle is

(l) Q-T interval N P-R interval Rl S-T segment (4) R-R interval

2,5 )q-dea ECGd 56"S*gS $oc$;' s's'5QC EOcSJdboa
(1) Q-T esoddo Q) P-R'epoeJdo (3) S-T Po6o (4) R-R eroddo

47. Identify the wrong statement with reference to the characteristics of embryonic stem cells

(1) They are pleuripotent

a(2) They are isolated from epitrlast tissue of blastocyst

\ fn.y can not proliferate in a culture medium
(4) They can give rise to the three primary germ layers

'oodS::"o 5ea'o o{ea'oSc SoooQoO X)0s"C r"EPESc dcO o.5c5;:
(l) aD o'o' J'$cdgo gOB 6 o er-oJ)

(2) scs ?'#"r-€ 
-d*SZ, J""gE Sma"so ScoA ddJ dldr

(3) aA X:o5{S S:-dg$:oet' &aJaS Eo5$
(4) aD $r:'61 @{!o"g 5e'oo'e:sc ldJd'5r{orfio'o::

48. identify the wrong statement with reference to the functlps of lymphatic system

(1) Transports digested fats to the,blood vascular syst'm

(2) Lymph returns the absorbed nutrients to the blood

(3) It transports lymphocytes from lymph glands to the blood

,ref U has no role in destroying the invading microorganisms
- 

64."rd6 S55f adcod': SoaroQor)$ "oBs'c;r'5p55c lJoEo.Sc$'::

(1) dgEJ$ S$3 -ao'go$c d{ 1Xr$deo S5$"gsc dddcsw$c
(2) a"5hdi)$) au"oo':$ d Xrs'o5: 8on dgodc3 ddcJsc

(3) s4&dX) g{odco ScoA 66adX) 5eo'o5.: dSocfp3 da'ea'dcS.:r$'>

r4l dpg ..;'dacd 5;.{3d$o d{ea13c$;ef JcrcSoE }1e55: (OR 6o66r

49. Idenlify the set of secondary lymphoid organs from the following

(l) Bone *uh* und lymph nodes (2) SDleen and Bone marrow

(3) Bone marGfu and Thymus gland fltly" and lymph nodes

iBo& o.Cd 65&c$c 0olo.:16 es$ €$co'e a8$c ilo0 oJ.:S.::.

(1) el'6 5og Soocs:: a"a6S Sea:;por (2) 5,l3-S,:: $cOcS:: er! $cg

(3) cat $ca ScOcS;: pScF $oQ (4) 5.)".r'$$ 5c0cUo a"XrUX> Seac;1e'';
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Choose the wrong statement with reference to smooth muscles

$ fn"y exhibit prolonged contractions

$cS;!p 5o6o'o5c iroaroQo0s (>Os'C o"5+5$c Eoc"q$:>

<11 5;'53 5o6d 6oelo$s: 5s'ouidon'C*6od $o0c$r ro& 6$o$o

(2) (rD ioa ers'do.f aod 55 €o165 Sea'e'l

(3) 5e3 5oS.5tur X>5c$co.fau5 o"6S5S6 *:QSod 6obcoO

(4) caD 6$s-o 6o$,:'oSc ,50'Q;e'o'::

i!>50p{o::

t 

d Myofibrils show altemate dark and light bands

1 fzl) mrv are spindle shaped uninucleate cells
\_,/
(Z/ fney are spindle shaped uninucleate cells

Z ti"t, ."r,*.rion. *" ,nd", the control of autonomous nervqmdstem

51. Match the following with reference to endocrine disorders

List-I
(A) Addison's disease

(B) Cushing's disease

(C) Cretinism
(D) Myxedema

(E) AcromegalY

S;.5 $ frOa3$co eB-o?: dce> 5c

5s3g-I
(A) eo&i:53 o"56
(B) {:?ro63 "oo16a5:

(C) 13e30ao
(D) D:336s:"
(E) eg$a:n'O
The correct match is

aB 606cS -d6o'q;
--tt' t-lxiwlt' c-lv. D-1, E-ll

(2) A.Y B.IV, C-IIL D.II, E-I

(3) A-II, B-III, C-IY D-I, E-V

(4) A-IIdB-IV, c-Y D-I, E-II

List-II
(D HypothYroidism in adult

(II) Hypersecretion of somatotropin in adult

(III) Hytrrsecretion of glucocorticoids

(IV) Hypothyroidism during pregnancy

(V) Oyerproduction of glucocorticoids

boa:oQor) 6* 13oE a'DC a 6 {: d':'Jr5c:

385-lt
(D t*6sd -o-dpQo"o::&45>

0D a+6r"ef tosr"S gf"o5 er6$o3a
(lll) /u"Ss'Qs"oo{ eref363e
(lV) rldlo o"O35 597ef S0'oots -'r"dr6po-o>)6db)

(V) i{:"Fs"gror5o er6SUSq
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Which one of the following is the correct statement with reference to Ascaris
fumbricoides ?,

$ uonoee/etic, din6/phic, pseudocoplomate and {oelozoic parasite

lf Monogen/tic. dim(rphic, coelomate and histozoit parasite
(3) Digenetic, dimor$hic, pseudocoelomate and hist\zoic parasite
(4) Digenetic, dimorgrhic, coelonate and histozoic parasite

lBoA a"Cd e&3,0S ero[As-o$655c 5oa:oQor)S "106)5 o.CC Eoo(g$o
<1t 5s-&$oo, 6gd.:.K:5, tuq.gd6d 5cir.d, SeaScil.d X>o.S;dA
12> 5s"&floo, 65do-i:5, Sa{6d Sc'u.d $coc$o Seaa-o -oo"51d0

<3> A5es8$o>, 63dr{>5, Doq"gX6d $ir"d, Seoa-o X>o"S;dC
(4) ASeeOdo$, 456;'i:5, Cad6d Sc-o-d SoOc$.r: 5eca-e.: X:o-S;d0

Choose the correct combinations
List-I
Class

(A) Turbellaria

(B) Trematoda

(C) Cestoda
(D) Phasmidia

6+ 13 oA i>0 epoo$

5e3S-I

Dq1.tfo

(A) cJdJdoosJ.

(B) p$cefo"

(c) -offo"

List-II
Character
Mostly free living flat worms with mucus
forming rhabdites ir-r body wall
Commonly called flukes which bear_ly4q
suglqlr_
Ecto and endoparasites Body unsegmented
Amphids performing chemo receptor
function

iodc3#o.o5c r{c 0 o,5c $,:>

5e3S-II

o{oo
'ogo.p d {or, d*- Sca5 o d d +aCf
5d3Od o.ar or:cf erd Co.3ea.o:oeroa>

5O3C )Q-deoon hJPSJ c,oordc.
5dB oo6c ,5.r.Xr s"q:oer"o:>

aC a-ir. g S,:O o5,r: erodd X>o.51 d$oo,
dir"od q:o66ssso drc

List-III
Example
Convoluta

Bilharzia

Echinococcus
Trichuris

ireSg-III

ao.Xv" dea

dSee;,:-ee:-d?J

0 er. 0 cS;-

@) fi536csc.
(1) d) and (c)
(3) (h), (C) and (D)

er o'.2 5 o: 6 J'c$S g 1n""o"s"ern i:Sd * oo p I 5cg E 5

1fu61andlB)
@tar. ff ana {ol
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Identily the correct-passage of spermatozo4 in male humaryqeproductive system 

^'(A) Vas deferens ([) (B) Epididymf@ (c) urethr(! (D) vasa effe\Entia
(E) Ejaculatory duc-(Q (F) Seminiferous tubule$
5:'5s Qldcir lsdog-63q $gsx>{: 5oa:oQooS {ci-sSo-o xrog::s 16c$.:'eo $;'gc;
,1-a^ \a-<--
I IJ U U IJJ AJ.JJ

1li Xci-So.b.S (B) J"oAEIob (C) 1i:ao55o (D) {c15o'a5er>

(E) 53.oS o'{So (F) {cg$e";dd o'05er
(1) B-+D-+F-+C-+A-+E
(2) B-+E-+C+F-+A-+D

,-&YF+D-+B-+A-+E+C
(4) F-+B-+A-+D+E+C

55. Match the following with reference to geological time-scale

List-I
(A) Origin of trilobites

J!\ Origin of oslracoderms
((c) origin of fishes
(D) Origin of amphibians
(E) Origin of cotylosaurs

afEoro$r5 (rs.dSr: 6a $oa o'CC a66&t5rir:

List-II
(Q Sit,.iun

Q) Carboniferous

-(fiI) Cambrian
(IV) Ordovician
(V) Devonian

5gs-r
(D -oerr.0c$:S

(II) s.6a10-e65
(III) €o1Do$5

0D ergPp"oc6rs

(V) a$cc$s

tr€-aaaq
.-e-3-
)t

ov
7.d-

SciS-I
(A) p)dpg erco";bo
(B) crf)S65&o e:5o';$o
(C) dbs erD&p6o
(D) & {c$o r5o.o e:Do"p5o
(E) s.e3dJ.6e eDo"pso
The correct match is
aB "o06c5 #&ofu
(1) A-IIL B.V, C.I, D-IV, E-II
(2) A.II, B.V, C.I, D-IV, E.III
t3) A-Wfixv, C-rr, DfV, E-r

-fly, w.cll. r-lu, u.4i
z.r/ ,,, /
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U,
J

(1) 1a:516 $o{coc
(3) gA S Sea.or

(2) 9cdgSeo-oo

(4) X>55 S€r.e:)

57. The unit formed by
kinetodesmatl is
(l) Myonemd--
a,S eB c$cd $dcbd
i)d36cucoa.6cc
(1) sDd>"55,

(3) Dynein
d-d BEdfElJC,r"e.l)

,.. 
-r-F(r,t @N.,n

Kinety
a,5 gX> $.r.eo o n-

a longitudinal row of kinetosomes together with the corresponding

{/} Motoriu
65; EBe.f#Scoc
ae)- rd6'&o&-6r

(2) EJ-cfoc$S, (4) E3e5

@
5O ".)

58. Match the following
List-I List-II

I) Fasciola hepatica

- -... (II) Antelope- (IID Ascaris lumbricoides

(A) Obligatory araerobe*=-_
(B) Facultative anaerobe--\
(C.1 Potyembryon
(D) Reservoir
(E) Biological vector

i,Sob o"CC ad Sr,5:3$:>
$o3S-I

(A) er0(e;S epo"c6> dD
(B) 45035 csil.c6> dD
(C) #oJolSd:.C
(D) e{c6:.efroo
(E) d5a"i:-5o
The correct match is

aB 506cS #6ofu
(kY (B) (c)

(1) 0rr GD (r)
j"6 $ Grr) (D

(3) (rv) (D G)
(4) (rv) (rrD G)

]'-l:€V) Female culex mosquito
(V) Entamoeba histolytica

Ss3S-II

(I) p"od:.er =.r.Ji3s-
(II) JouScfS
(III) es$605 e::o[Aso:>65
(IV) es65:.9o53 56fo
(V) Jobba:- "o.d{Ee3 s"

(E)

$d
GVT
(v)
(v)

(D)
(rr)
(ID
(rr)
(ID
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b
59. Statement (S) : Marine lampreys migrate to rivers for spawning.

Reason (R) : Marine lampreys return to sea water after spawcirf'.-

(1) Both (S) and (R) are correct but (R) is not the correct explanation to (S)

(2) Both (S) and (R) are correct and (R) is the correct explanation to (S)

(3) (S) is wrong but (R) is correct

\ tSl is correct but (R) is wrong

a"Scr6 (S) : 3$>16 o'ofoer 5&s$ r{:do it o'p3 6Sa"So i{o::
s'deoo (R) : X>$>15 c.r-ofoe t{:$, bSS e5cr:4"6 &on 5$>1o"c; Sd:o"o::

(1) (S) 5c0o5o (R) sodc 50d)SC s.D (S) 5c (R) 50615 CSdea s-d:

(2) (S) $ooctu (R) 3oc6: 5oE)SS 5ooctu (S) 5: (R) 5op:5 D$dea

(3) (S) 50p1r56 s'6c s"S (R) X)o6o5a
(4) (S) S0plr$6, s'S (R) b06l56 s-dc

(1) -o.6EE5-A (2) ar5at'Sg ro r{: (3) Seo. (a) F*o::E

Which one of the following diseases js not treated^l'y Inactivated Whole Agent Vaccines ?

tl) Hepatitis-A p( (2) Bubtdic Plague@)Cholera (*) Typhoid

$oB a'cd 5 a'gQ 03d3 $ddc 5?.167cS.:" SoQIg @e${g o'335e.:$c
6 {>6.:-fi oJ 6c ?

o Severe combined immunodeficiency in man, is caused by

( I ) Deletion of gene encoding lor nTPoL
(i3\ Point mutation in gene encoding for Adenosine deaminase

(3) Point mutation in gene encoding for AfPase a

@\ Deletion of gene encoding for Adenosine deaminase\.t
sF$$Cet' 5g5 X>A:3A6 ;r"SQ S64dS dbo dss.rs so:r{:5:o6?
(1) ATP555c "oo€Ood arsrg$ 50o"gr{o
(2) JASbS &Jscd5$c "oodood a;scg$d .Dodo 6"536$d5
(3) ATPS€SJ 5o€aod a5cg$d6 Oodr dd30$d$
(4) J&S'oS &J}>d55c "oo€8od e5cg{; "ooo"grfo
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A
Choose the correct statements with teference to Mutation Theor!,.

(A) Mutations occur from time to time in naturallY 
,breeding 

p/opulations

(B) Mutations are continuous and accumulated ovdr generations

(C) Mutations are fulfledged and there are no intgrdediate forms

(D) Mutations are 'not subjected to naturaF(election

(1) (B) and (c) (2) (A) and (B) (3) Ql and (o) \ ,o, and (c)

ae538$6S "ognoo"DB'ooooQoSS X,6E3rS a'5+5o$ l{c}o..5':5'::

(A) (>X;.aon' 16a5$o aO'o ao'q:-d0 d$oef s's-$': r(:ea o n' 6638$do'o:

$oqYDlo;r
(B) ad;O56o'el erDSlSo 500 c$or aD ei d eJ o'ocrr "oo')6$o$eroo

(C) 6e5;O$do"oo 'ooiprdB:SD $coc$o $;'{5&od d{o;o6$
(D) aeYpo${o'o: $>5;3Sdea-SB rb0s"$

(1) (B) Scoc$.r: (C) (2) (A) Scoo:'r: (B) (3) (C) S':oc$o (D) (4) (A) Scoc$u (C)

63. Which of the following disorders is not caused by Pleiotropic alleles ?

(1) Sickle-cell anaemia

(3) Phenyl ketonuria

6a i8oa u.Cd 5 o"gQ

(1) YdSO - Seadg6.r'5.5

(3) bEeS Stf $:-50c6;'

. (2) CYstic fibrosis

\1 r**oo,uslosis foetalis

"gal-luf 6oc$.:rr{3 D5o;s'o 5 oS Sq:r{ 5'>

(2) "otg -hL?'f'r5

t4> JOlSzrS{""lS 6e6-OF

64. In birth control methods, which one of the
I(l) LNG-2&L- (2) SahA

& 13o5 a55o65 a5$ Co5ooldm

ero.r$$yA ?

(1) LNG - 20 (2) 5ro"0

following is an lntra Uterine Device ?

frYacinul ,ine (4) DMPA

6qi.5cod 5a r(o"1{cS;"o.5d }6$$c:

(3) o3r"s SocUco (4) DMPA
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Statement (S) :@ In brain stem, the pons is called as pneumotaxic centre with an ability
to moderate the functions of tle_lqqplatgryjlylhm :gltre".

Reason (R) : Neural signals from this centre can rediEE-1he duration of expiration,

thereby alter the respiratory rate.

lCorrect answer is

S Aotn (S) and (R) are correct but (R) is not the correct explanation to (S)
(@) goth (S) and (R) are correct and (R) is the correct explaration to (S)

$i tsl is wrong but (R) is correct

(4) (S) is correct but (R) is wrong

a"g+g (S) : B:56c s"od5,r:d$ &E35c 5.r5are;"335 dold$coe.r.dc. a6
6nS 6Od a.gX>oo5cod &{co5c bS0o.ider:dodco6.

s-deoo (R) : 6r €o15"qo.8 X>otec.crl 6n"is{ er$e0 elAor) a.gX>dor5c
5,r.dgr(og.

aB 56615 5 $.;.o.5 S'::

(1) (S) ;DocS], (R) Eo6: 506:5C s.C (S) $ (R) X)ogjr5 D$deo s.ejr

(2) (S) 5c0o5,r: (R) Eodc f)06)SA ScOcS,:: (S) Sr (R) bo6o$ D$dea
(3) (S) 5odr56 s"d>, s-C (R) 506)Ss
(4) (S) 5oSb56, s"C (R) 506:54 s.cS>

66. what is the correct sequence of Man, taxonomically starting from superfamily to sub-

family ?

fu Hominoidea, Hominidae, Homininae

(3) Hominii)|Homininae, Hominoidea

5;.5$6 S6ddeaoeS erQScbcoaro

l{cOo*c$c:

<1> "osa &c;J'oc: & c$J.; Xr€AfuCd, ;rs6ec0 d
(2) ;rtt0rSd, -ostioo"ol6 o5;., -osaAcp d
(3) frs4crcd, frs6acC$, Xr$Der.o$& c$r'
(4) r'"r$ 0c o. o.l A c$r., irs4fuCd, Xrs6ArS d

\9- Homininae, Hominoidea. Hominidae

\$_\IoEinoidea, Homini nae. Hominidae

Sco& 6"oSceroa.r"CB Se $ dcK) Cq.o.C;
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(r)

(ID

(m)

(IV)
(v)

67. Match the lollowing with reference to

List-I

Appoposition

Dioptrical region

Retinulae

Vitrellae

Cornea

eye of insect

List-II
(I) Secrete crystalline cone

(II) Refractive region of an ommatidium

(III) Region having comea and crystalline cone

Houseflic(

Photoreceptor cells

5Eg-II
5pu3S {o{r$5o pDot$So
6p"odi21 5lgd55 glo65::
65I:dro$:: Xo0otu 5pe35 {od:fu 5o @o65::
&r{e>

s-oo p.Xr.d Sec.o:

(A)

(B)

(c)
(D)

(E)

8trS41 SoCB (>oa:oQor)S 6a 13os o.CC a"5 5J.63$t
Ss3S-I

(A) J&;eefi5 $>30ooo
@) roe€o1A56ea @o6o
(C) 316i:i.:o Sea"e>

(D) ag8d

(E) {>dl:c.:oo

The correct match is

aB SoEc$ #eo:p
,(t) A-v. B-rY c-ilt, D-t, E-tl
\ ,,.(S A.tV. B,III. Cr9. D,( E-ll

(3) A-rrr, B-rr, c-IV, D-Y E-r/
(4) 

^-N, 
B-V. C-ilr. D-rr. E-r

,7\
(A')tne contractile regulatory pr.oteins that mask and unmask active sites in the sarcomere are

- ;,[') Troponin and Tropomyosin 
-fu(rovonin 

and Myosin

(3) Actin and Myosin#-- '@)iroOonin-I and Troponin-C

i-d;l:c$r6dD 5 CcU.:ogdca 1er'd;: PUSffio-e.:5: etr.pd $c0c$r cea..:.3do
ic$r:od #d'o€.:-o;:
(1) [0fJ6cS $c0cE:: pder'SooJ."o5 Q) [ddr605 $coc6.r: sJd;-h5
(3) 5SS scocso $c6.:."o5 <$ [der6c5-I $:ocs.:: g$er'cS-c
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69, Statement (S) : Cockroach is "paurometabolous" with reference to its development

Reason (R) : In the development of cockroach, there rj-!9-iymphal stage.

Correct answer is

(1) Both (S) and (R) are correct but (R) is not the correct' explanation to (S)

(2) Both (S) and (R) are correct and (R) is the corect explanation to (S)

(3) (S) is wrong but (R) is correct

\). tSl is correct but (R) is wrong

a'5PE (S) : a5'6o5 S;dEoda'C; 'Jo'Bcc.re$o5' cpod:-dc.
s-deao (R) : a5'6o$ eQ5p6ef "ogd;"i: *aS$l: bUSAAc.
a6 50d:5 i>$*q"$$r>
(l) (S) fDocSD (R) 3oc5: X)0g1rSD s"C (S) $ (R) Xrogl$ C56eo s.d1:

(2) (S) $c0 cS.:: (R) Sodc "o06cSD $cE cS.r: (S) S: (R) i:06:$ C5dea
(3) (S) 60d)56 s.do, s.C (R) b0d)56
(4) (S) fr0d:S6, s"C (R) 586:56 s.cSr

Alleles for a gene I are IA, IB and Io. If IA and IB are dominant over Io, then
is indicative of
(l) Co-dominance
(3) Wiener hypothes/-
I erd a$.:g$5c IA, IB So0 oJ.> Io erd c$*d3 C5o-3w 6oer-o.D. IA 5cO c$c:
esScSD Io 5o"y a;"":'.de.ec eso$d IA = IB > Io dSP 5;.iSo o 6

@) n.".r.i,"
\ Dominance

IB

rlt "o3-er"o.{e5$.>
(3) 556 "ognodsc>

Q) eroddd$.:>
6) ar"o-deJ$,r:

71. Choose the wrong match with reference to joints
(l) Gomphoses - Intercarpafloint
(2) Syndesmoses - Membrane between Tibia and Fibula

@ Symphysis . - Joints betwee-n vertebrae o_f-Fammals
(4) SyrQlrondrosiy' - Epiphyseal platr-
6a 13oA o.Sd/ Sdp$c X>oa:oQo0$ X>Os"S o"SC Ber:"q;Sr:
<ll 6"ofl5el - eoc5d 5ce6 a:o{s'o I o:
(2) "ro A ersefer> - eeo6d $cO c6.:r o""r"do"q)c5o 5c{g 5o .53.55c:
(3) $og.5o - $Uo.o Sddcs'o $c{g *od 8eu

<4>'o5s.ogaa'o5 - J"o-q: "o c$cel $od$,r>

Rough Work
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72. Abingdon tortoises in Galapagos Islands became extinct after goats with great browsing
efficiency were introduced. It is an example for -/_(1) Competitive releasd\ (2) 6o-&ixence
(3) Interference competitioe r.-Fff Competitive exclusion

n slds 6aloe$ d>*o d:ge$o $:i{-o$do Sos JOo565 e"dvop eso60o'r"o$'
aa 6Pg 3 o"i:- 6 eo L o Y

(1) drse9eJdS S6cde)
t3> SgOSdeo drf e9

(2) $;r. d555,:>
@) erse9*Vefg Do5${o::o"q;

73. Choose the conect statements with reference to "Demospongiae"
(A) They are exclusively marine formg\

They are colonial formgr..--
Skeleton consists of siliceous spicules and spongin fibres.

) They are sp-litary,c4d simple forms.
'6 a:-i-Jo € c$.r' 5c b oa:o Q o5s- b 6 gjr$ a"g+gosc E oo$Sc:
(A) aA rgrQn" 55o115 dd;er>
(B) aD X>X:-Sd{ d$ec
(C) er"o5oedSoef . "oos"5oC.:s'q: $:6 o5o i";oe5 drsdc eD 6oeFo:)
\DryS SdCEoS 5s-od dgec

,ffi tPl-and (D) (2) (Bland (C) (3) (Aril( (D) and (C)

74. Statement (S) : Marine fishes have aglomerular kidneys.

Reason (R) : Aglomerular kidneys increase the loss of water through urine.

Correct choice is
(1) Both (S) and (R) are correct but (R) is not the correct explanation to (S)

(2) Both (S) and (R) are correct and (R) is the correct explanation to (S)

(3) (S) is wrong but (R) is correct

---6 <S> is correct but (R) is wrong
n'SpE (S) : 55116 dX>ooSooatc d5€{r"Ps" fu'X;d:r.5 5u'16nooo"o:o0:'o:r'
s-Ero 1n; : d$€{u"as. do.I;d"o-d b.u"p"ooo"& 5:116o o"5o. DbQo.5ard

Se3 5Sc; -.r"S;i.ol:.
aa X)06rS (>S;"q"SSo
(1) (S) $ooc$r (R) 3oc6: 60glSD s'C (S)S: (R) 5ogxr5 C5dea s"i5r

(2) (S) 5c0c$.:: (R) Eo6c XrOpbSC .$c6o5o (S)Sr (R) X>06c$ C5dea
(3) (S) sogbsa s.db, s.c (R) 60grr5a
(4) (S) X>oglr$a, s"C (R) 56d:56 s'd$(s) sogbsa,
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75, Vitamins required for maturation of R.B.C. arc

\ vitu-i, B. - Folic Acid
(3) Vitamin Bu - Pantothenic

J1d d{ Sea"o (R.B.C.) {oX>S3eY}c
r I I CirS.:S B. - d{05 ec$roo'(3) AdTDJS 86 - +ois"ECS ers-:o

(2) Vitamin 8,,
(4) Vitamin B,,

ep$X>d$cr{o CicD;5c
(2) CerAiS B12

(4) AcrSrS Br2

- A$#bic Acid

- Folic Acid

aD

- u#tr0;5 er$co

- Qt{05 ers-ro

76, In which one of the following animals, parasitic castration is observed ?

-offi Carcirus maenas

(3) Anopheles

tll s'0;55 Doo-5
(3) cro""eOS

(2) African antelope
(4) Culex

Q) erf+s' Joc3d5
@) 5;"9e:53

5r 13o6 aodrgoef dSoicodc X>o"S;dS s.r61"a55c r($c0&$.r:

77. With reference to cockroach, match the following

(A)
(B)
(c)
(D)
(E)

List-I
Ocellar spot

zfQo5d: boooQo$S 6r $oA o.CC ad

$e3g-I

S:-{u3tu.

5e3S-II
(D d;r'
(II) ;r-So$o:
(II| fo""rdo
GD A{$)

5o6o"o (V) er{do

List-II
Genae

(A) dp Ooe5rg
(B) eBQSJo $os.e>
(C) 6S65)- EiD
(D) Eo66 e6 ao')5e>
(E) es;>Sds $ooctu eQSdb
The correct match is

a& (>66cS #6oQ;
(r) A-trr, B-v. c-I, D-IV, E-n-
(2) A-rr, B-rv, c-ru, D-v, E-r

(3) A-rr, B-v. q+. D-rv. E-rrr
-..

-.-\@.-lIJ, B-lY, 91, D-v, E4IL'---I

Rough Work
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78. Identiff the one which is not a disorder of circulatory system

(1) Coronary artery disease

\ Emphysema

g3oa a-cd 5a oS 6fUea
(l) 5d56 d$rP d.EQ

(3) Jo3)5$J.

(2) Angina pectoris

(4) Myocardial infarction

$5$"65c Eo6C epi:"o3 ?

(2) erodr" -o$OS

(4) $rdr"s"octrcci a5ft6{5

79. Edaphic factors are related to

( I ) Humidity .$ Soil rexture

Jo""pS s.droo dCB SoooQ oSSA

(1) d$c t2) 5c{3 e:5;&

' (3) Rainfall

<31 5{}e5o

(4) Wind velocity

(4) a. cS.:: d rJ o

80. A fish, Nile perch introduced into

Cichilid fishes in the lake. This is

/(1) Fragmentatiofrt

(3) Coextinctiorgr

<11 So5;oSdo ri-fiFacodXrSl

(3) "o ""r. D ocX: e5 e.p

lake victoria in East Africa led to the extinction of

an example for

@ 66iExploitation

4ffinvaion o[ Alien species

(2) 5$dJe: esODCdJ.lto

(4) *CdeJd e-6cc.: r5'da:-6:

'Fd -o63' epd dX:Sc d.r.dc; erf+s-dC l$ocUJ- -odX>cad3 (rd{-og6o SoS

e: 565c3dC "o35 di>oc epo60or:.or:. aA d0g 6o-5"dea

Rorigh Work
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PHYSICS

8l.TwoperfectblackbodiesA,andArmadeoutofsamematerialhavediameters2cmand

16 cm respectively. ).'.* and l."rn* are the wavelengths corresponding to their maximum

radiation of energy at a common temperatue' f,'*u* *d ',nu* u" related as

4rg GB 5x>3$o: A,, A, oc a,€ 'oo"ds::6" dcsca:6' a'5b5'::o $dc"orr

2 =oo.$c, 16 -oo.5c SOB ""p o.;os. esD ?,€ 6 dr6la( 6 d 6$;!pdc 1.'.u* $c0 cs'r>

)." er -'d3 5ro& Eo:$d do'"] 6 ""r &3dea {5;o e5dor{ po'5oSc Eo:Q;o"oo'
max

er6ydc ),'rnu* $c6c$.r: 1.".*o 5c{5 Sooo{$o \
G, G)-

(1) 161.'max =5l"max (2) I',n* = )'"-u* \\v 
-.,,\

t3) 8L',,u = 1.".* (4) I'* =8L" wn"<7'ax max 
JO,

32.ACarnotengineworkingbetween200Kand500KhasdoneworkequaltoS00.Ioules.
Amount of heat energy supplied to the engine from the source is

200 K $:oc$.r: 500 K o $:{5 'oCdro s-o-1e5 aoes 800 rd; "tC i'"tEOEq

e555o: Sco& aoascdc epoddh5 *Sd$ a;:{$:: ; 11-\\
. 2ooo t t, sooJ (3) ry, io, $, '-i\^

(l) -3t \/1 3" \J, 3- \'/ 3 Ulff,

z:::) ?n1., {qro
in.C is (assume thar the pressure remains consLant) '"- 7/o' a-*1""
T"C 5d a,5 a'c$'>:$ rms dr($*, 27" C $d $51 Doc$5c ESofU 6"'a ;:'6'$

6#Lr{6 t &14 -ooe3ld6erd <5od5o "odon- &ocorodD O'Do'5cfol

(l) 820

Itough Work

(2) 1000

=- {--}:

(3) 195

\ :>-

\t-1

\4) e27

@t^L 
o 6

)rJ0

c\
>(>4-
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g4. Two trains A and B are approaching a platform from opposite directions..The siren in the

station is making a tound ut a freqrienry 4 kH?: 
-The 

passengers in the.trains,A and B hear

i;;;";J *itf fr"q,r",,"1gs.'i.S fu1, ind 5 kHz respectivEly. Then the velocities of the

trains A and B are, lvelocity o[ sound in air : 340 m/s)

A';,0;;B ;:';;d.'F";/q);.soat a{e,ef a'5 i"er }doc s5ohbco';o::'

'6"osef $sy l:ds 4 kH-z S$s{)ssod d3o dqoa' F#oP A $coc$r: Bcf

$5y $>cf:"ets5cer e: {gn0l Sd(:n' 4.5 kHz ScOcS:: 5 kHz #$:!5$5o t{c:

{a:-ern' &od A, B pdA dn"o.: <n-Oe$ {5c dilo = 340 mis)

11; ZS m/s, 55 m/s (2) 85 m/s, 8'5 m/s

(3) 42.5 m/s,62.5 m/s (4) 42.5 m/s, 85 m/s

According to Rayleigh Scattering law

iij Srrrif -rZ"d'dusi particles siatter preferentially smaller wavelengths of light.

iZi rt" large size duit particles scatter onlyJight -of short wavelengths',,

i:1 ft" lignit coming from sodium lamps show Rayleigh scattering very effrciently by large

sized dust particles. -rt(4) The light of only longer wavelengths is scattered more in egfls atmosPhere'

o"g0-{r6$"oeo "o:-1"1 oC o$

{lt SS1 X>O$'r'ea$oc r{o {;'Q ereac$oc $deo-'l35on" ero; 6doll Eg"E*S}
s"o@C {:0$"oi'o::

(2) -d6 !16$;'eoo 5On5 d;'A ereac{e.:c ero; ddorlp$5o *51 s'o&S $o-16d;

"do3"dlo))
(3) .l.>d {>o$:'eao dOnS d:'A er ea,: $oc d{&c$co 6{>o $co6 Ier$d s'o& o-5O

So$rrS"r$. a:-n', d{ 6 d 1i:6 o7}oo
(4) aJ.>" a'e'Sdeood A$ 6uor{s:>o ro& $;'1dd': !r0$"o$cr{c$c

g6. A Telescope using an eye piece of focal length 3 cm has a magnification 10 in normal

adjustment. If the Telescope is now used to view an object placed at a distance of 180 cm

from the objective, the new length ofthe Telescope is (assume the final image is at infinity)

3 -ooe3 5;6dc o"tr-gouJd$]: 5e eoS 5c.:5$o a51 d;"d5OPC 6::56 ecbd5$c:

$o'deo 'odco-o:ef 
-, 

10. Sf)r 5b5$.1 $co& 180 -oo'5c' 6;"d5'r:ef $Q$
,5r-6er"c3 6o"ddEpS 6$6:'flo,Jccrdc, er 5J'd6or0 6rrg2,,.yd di"d$ (,')50

1b&Doa:So essod drd5oef a5155cS'5c5o) ,3BB
(1) 39 crr,l. (2) 32 cm (3) 33 cm

o
cm

)

l
Rough
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87. A monochromatic light beam of wavelength 5896 A is used in double slit experiment to get
interference pattern on a screen. 9th bright fringe is seen at a particular position on the
screen. At the same point on the screen. il l lrn bright fringe is to be seen. the wavelength
of the light that is n'eeded is (nearly)

a,g 5g6O "!dodp$5o 5896A do s'o0 lpoao aorr,5Og [>a:.:"r{oef b5&{deo

{rgb-$o 5625 5cd dpo6ci.:3t o.6a6o6.5495 5cd a,S SQf f,S$.r $d
9 5 6cg3$cc$o;>d g5o656.6o615 5.:d cgd i-SSo $d 1l $ dcg0bcc$c
X>d 55oo"e:od, s"Se"oS s-o8 6,::36 eSdor{pdgo, (So6.:.dcrr)

(l) 7014 A (2) 4524 A (3) 6780 A (4) 3525 A

88. Electric field on the axis of a small electric dipole at a distance r is E, and at a distance
of 2 r on its perpendicular bisector, the electric field is Er. Then the ritio E, : E, is

a"5 ')51 Dc$gE Edoe5 eeg,o} r 5;.doe$ C6cgE $geyo E, 5;6cUo o"C e.:oar

55c6g+od5 dp-o 21 5;-dod C6c55 $geYo E, esoo5 Er: E, Cir30

(1) l:16 (2) l:8 (3) 1:2 (4) 1:4

89' Thin plates, each of area A, of four identical capacitors are arranged such that adjacent
plates are at a distance d apart with air as the medium. The plates are connected to a souce
of V Volts as shown in the figure. The charge on plate 2 is
e"S'3d6o"S pa.og6cl A r:.tJo o.o:r{c i>dg$5,:.5B:5 B}?niJ6 bso.5C iroso$c
er (>S; !:o$o $c{g d drdS.:: aodercoc erSc6Sa:6$D. 6t bo5oc V S{g,c r{e>

6d;3 aSSSoSSc i:C.r$oc5f vY,:-'o5 Cd$.::rr boQoX:a:6$C. i:eS 2 =o de:

egd{5o DorS
,agLv'

(4)

t.6V -:. > (.(

*_
(

,,, 14, rzr ffv (3) 'o 
o,

2d

t, o,
4d

Rough Work
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A
90. ln Gallium arsenide material, Ohm's law does not hold good because

(1) resistance is irfinitet/
(Zj ,"gutir" resistance exists in the voltage-current variation

p)nc'arent goes 1o infinite at very low voltages

(4) current remalns constant for any vqlgeofaoltage

n Oc$co eOTEE 15o'5635ocf , {,5c3 Dc$:Scso $0o!:6:' JodcdSri"

(l) CddS$ es5o'5o

Q) t'ee - Ddc55 1'{ra"'(:'5o S;.dc;ef dcea Sd{5o 6Onc$o514

ir, oL *"3 #gJ 5d c655 $:o"xr"$'l es$o6$$n' aodcsc

t+l 5 s^de 5er:SpSSc aAc55 $>a"i;-$o bdon" 6o6c$c

91. Match the following

A B

.--(e) Quantum model of Hydrogen atom

Laws of electromagnetic ii, duction
Michael Fara

Niels Bohr-------
(a)

(b)

(c)

(d)

6i

J.J. Thomsqn 
r i.--_

Chadwiclr----'-.'--.-

g3ob a'CC adi>dr5o&
A

Discovery of Neutron

Discovery of Electron

B,

3r1a"a5 bdsreo s'3o65: S$r.'
S6:g5o5:J6oe5 fodea Cdo$ro:

tuELer"S erDXt3.6ea

Jog.yS erD(r3,deo

(g)

.-lb)

(a) ar€6 +dd
@) 5e5; a"f6

(c) J.J. q"5o35

(d) 7435
The conect match is

aB 'oo6c5 #6oi9

(e)

(0

G)
(h)

/af'w' @Y
(3) (e) (e)

(4) (h) (e)

(a) (b)

(1) (c) (f)

(c) .- (d)

$tf (Y
(bY@>'
(h) (0
(e) (0

Rough Work
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{t.
92. Dimensional

gbe"gs,i-5

i t I iraototo

I
formula lor coed6ient of restirution

r{c ea 5 $o: $ 5c Co@ } do3 c.:-

- t--t-

1+; ulr2iz; ur-rr (3) Mr2

93. A stone is dropped from the top ofa tower of height 45 m. One second later another stone
is thrown down from the top of the same tower. Both stones reach the ground at the same

time. If g : 10 m/s2, magnitude of the initial velocity of the second stone is

a.5 o"o,r:C 45 5c. JelcS; 8q:dot $co6 13o63 $6Oo'6c. a,5 -oS$c 6o'5d

$c85 o"o::C erd 8q:d$o-o S,:oB 13o63 D"oOo-do. Sodc o'dop doS: z,€J-o

doo-occ. g = 10 Sc/=o, er o.r:d BodS o.o,r: 8O diJ (:OS*eo$o

(1) 25 m/s (2) 12.5 m/s (3) 8 mis (4) 16 m/s

94. The position of a particle is given ty t = lti * +t2j+ 5k . Then the magnitude of the velocity
of the particle at t : 2 sec is

a,5 deo i-So gSoB

(1) J2176 mts

C{on a5go65a i=3t?-4t2i+St. t = 2 -o. $d 5ea dd

(2) ffi mts (3) 
"/J55 

m/s (a) Jffi m/s

95. Three trodies A,pand C are projected with the same initial speed with angles of projections
30", 4/5" and 60o respectively. The body/bodies having maximum range :

A,B/$coc$.:: C esd su.dc SXI{:* $dcSrr 30',45" ScEcs::60" $er"e>$ 5$rS
5'o $&66 g>gQo dc$co650. r{oA o"g'oc SOaS $Q$/sQ$o::
(r) B (2) A (3) AandB (4) c /

A 5c0c$:: B /

between A and

"oadq.: A,B

,{,! o $cdg,

(1) 90", 135"

Rbugh W
1(,

$c0c$.r: A+E+d=0.

(4) 45-", 90'

CJ,t*u

\

-a- - -\ ,-r l-r '-'\96. The vectors A.BandC are such that lAl=lB\t_ll=J2 lAl/nd\Ar+ B'+Ct0. The angles

6, fland6 respectively are

ScocS;: f o X:oao{$o 1A;=1n1,1C1=.uAlAl

[,[ o Sc{g Sca$a:or $dci>n'

(3L45:, 135',F@,u
56
ii

\\A
\r-<4

qtr
rt.

39S

=-

-atJl;l./,^i-rl

{q+ to+

--4.l, rAM20rs, 
64
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98. when a force F is applied to a mass m,, its accereration is 6 m/s2. If the same force is
applied to another mass m, it gives an' acceleration 3 mls2. rf trr" *" ."rr". are tied
together and if the same foice is appried to the combination it gives un u""el".ution
e,5 a:s5w F 5c m, 1d$go.B-o gb6r.Eo,5n o.S .5gdea$o 6 ic/-o2. esd e.:u"C;
m, 16$go'31 gf:al"a! o.C eygdeaS.:: 3 bc/=o2. Eo6c ld5g s.{ce;$c 5O"o
50JS ddco"6 erd oe$:r X>o 6:-t{ S.,lo f-ir 6:.E rg areb$ SO6od 6SdeoSc;
(1) 3 m/s2 (2) 2 mtsz - 6) r.s ,i1., (4) 1 m/s2

99' A particle of mass m is moving in a circular path of constant radius such that the centripetal
acceleration is varying with time as ac = k2r12 where k is constant. the powe. grven to trreparticle by the force acting on it "

m gd55o.8 rfo a,5 5ea$,1 'od a"gld$o r{o S;o.s.d $.:.doeg o"C
e55dea5,:r a" = k2r t2 egd SScydeao5Sc dB s.oo66#c* Srdc6c516.
'oo.o5$o. 

^eg 
Ueoolo .o$d+o a:oo Sea-SB or>O3S i.bcd g$l>

(1) 2nmk2r2t 1z) mk2?t. 13y zerJ (4)

97, Acar is moving at a speed of60 km/h traversing a circular road track of radius 60 m. The
minimum coefficient of friction to prevent the skidding of the car is (g : 10 m/s2)
60 5c. a"glds.: rfo a,s sJo's-d 6adc $.r.do dcoo. a,s s.dc 60 B.ic./r{oc:
$ad gSos,.e3Q$16. rdc a"d$oo" co.0ois:e,r$ cgbbdicrr.: scf, iu{o r{ceass::
(g = l0 5:/-o2l
(1) 21/s4 (2) 1st44 (3) 21/44 (4) 2s/s4

ej? soLc5

aStrd k

nmk2r2L

100. A buller is fired from a gun with a velociry60
direction. At the hiehest point of its natt. in)
in the ratio 1 : 3. The lighter mass comes to rest
mass ls

(l) 20 m/s (2) 10 m/s

Rough Work

s at an angle of 6Ql_with the horizontal
lodes into two parts with masses

. Then the speed of the heavier

(3) 5 m/s

?& llutt<
an-

--=>.=-1995+
)-xl6Ds-

a,5 dc#S Sco6 a,S a:.:Ecl$c 30 bc/=o drtS.::gr gaa (r5.:.oegd 6{Sc 60"
$ea5r:ef soOgo"dc. o"C Ss.doef 60{l Jdl Sd a.rBci, 1d$go.{ow I : 3 {;S;
Eo6.: E n"er:n D0{pCcSSo Eo6$6. dOS gSgo.a EobH CdJe ,o&B $r)3SA.
erb;:dr ardc65 1d$go.A $6

J
)

,1\g\
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+! =- r^a vI t-;.ZY) o. = z CG-'-v-- *.ir.'A "@ ,

101' A loaded gun of mass M fires a bullet 
Zof'mass 

m with a velocity v at an angle of elevation
0. The gun is initially at rest on a horizontal frictionless surface. After firing, the center of
mass of the gun-bullet system

mv cos 0
(1) moves with velocity (M+m) .-\ .t-z_ .l

(2) moves with a velocity "[ ' rt ][u+m]
(mv sin e \

(3 ) moves with velocity t, , _ , ,1

(4) moves with a velocity H in the horizontal direcrion

M 1digo-A 5Ofl el:Eicd Codc$o51 a,5 d:J"S m g5$go.3 r(o a,5 ar.rEe55c v

dr{$':)65 e aS;d Seo$:>ey roO;o-dc. dc}S fOn a.5 QOa b$eoegd .{:cdeo

d"o-d 6e.:$,r: 5cd 65;4. roO35 ddca.6 dclB-a:,:Ee5 SESf [d$Eo.B i-do1d$,r>
mv cos 0(l) 
(Ir{ +.r) tsrtSog' 5dcoc6co6
(m\

(2) "[r_n,.,J drtsoS4 Sdco.:dcoE

/mvsin0)(3) [ M+m .,J 
JrJ$$66 (6ooce5co6

v(M-m)(a) 
- 

tstJo8 3 &a X:$;.oe5d 6{d 56csc6.:o6M+m

102. A solid sphere and a thin spherical shell of same radius rotate about their diameters with
same angular momentum but with different angular velocities. If M, and Iv{, are the masses of solid

sphere and hollow sphere and iltheir angular velociries are in the ratio I : 2, then [5 I ,.
IM, ,/

a"€ o.5)d$o SOES a,d 6JS 6{d$c) a,d rfcofiad$o o.gl o"5b5::e.: idoo ,.C
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103. A heavy brass sphere is hung from a weightless inelastic cord and acts as a simple pendulum

with its period of oscillation T. The sphere is immersed in non-viscus liquid of density

1/10 of the density of brass. Then it will act as a simple pendulum of period

E-d d'o-d esb83--od e'afu$c a,S a:dcE5 ad& ffC$o$; 1de.:-d6"oo'dJ. es6

T 6aer.$db b"$.$y oi>oder5$'r:n' gr:$QQsya' & nav'c} 'o)i{d dc
pd$oef $ooOo.d;. 165o #o1d6, a66 i'o16e5d l/10S $o"Jc $516. es{:y6'>

eg 6*d$o Jo6 6aoo'5d s-e.:5o5; e$o5s;:rr 16$$""r:o6.

(3)
rTor t+r {rrt,l 1#, ( s\2t_l

IroJ
(2) r

104. A light planet is revolving round a massive star with a period of revolution T. If the

gravitational force of attraction varies as r s/2, then T2 is proportional to (r is the distance

between the planet and star)

a,g dOs$ g116-5o -o.'5c; g6$go-A rf o 5{ [eJS$ JrB;. T ld$cea"$d$ s-oo#
(>OgCD:doo6. r$&e"g${eo ooo a5/2 n' $:'du6oo-d erbyt6r T2 $ er*,rd$J'So}"ion'
6oda (0""r.5o, $$95$c) sc{g 5c.do
(l) ,5/2 (2) ,1t2 r1t2 (4) ,3t'

105. The temperature of a steel rod placed between rigid supports and of length L, area of cross-

section A, Young's Modulus Y and coeffrcient of linear expansion cr, is raised hv T. The
amount of work done when heated is

-

&dO L,$d5d;6 tsa-og$l: A,cSooF r{cea5$'lY$ooc$o E$5;r5$,: r{osa5$c:

o 65y a,5 6553. S6P d)dE55 erq'o-o $c{gs 6oS, o'C affr{e5$ T

-oor)o.dc. d& dc$oec$o$ eOES "oC E.::d Sco

r)
(3)

(1)
YAcr2Tzl. YA crTL(2) -;- (3)

YA2azTz|z YAoT2L
(4)

106.The ratio of the prelsure (P) on a swimmer 10 m below the water surface ofa lake

to that of the pressure on ths surface of water (Pu) (Atmospheric pressure = I r-J!5- Pa,

P : 1000 kg --3 g = 10 m/s2) is -
a,5 5c3 S.oscd 56 "Jer.ps tO 5c. efu;cef $$1 a,5 5+6n-C-o 5ds$osgc
Sei u5o5o:: 5c5; 5655155; rlo CXr;Q (a"e"5doo 5"165$$ = 1 x 105 Pa, p

= 1000 kC m-3, g : 10 m/s2)
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